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PART A : Grammar and Vocabulary
Directions : Choose the word or phrase (1) , (2}, (3}, or (4) that best completes each sentence . Then mark the
answer on your answer sheet .
1. If you paid more ... 0 class , you might actually learp something .
1) expression 2) importance 3) knowledge 4) attention



2. Working withe these small children ..o 8 lot of patience .

1} requires 2) employe 3} describes 4) worships
3. The doctor Says it is ... f0r me to wear glasses because my eyes are weak .
1) special 2) necessary 3) comfortable 4) attractive
1. We're having a 10t of .. With the new computer system . It isn’t working properly .
1) distance 2) mysteries 3) trouble 4) reasons
5, He became very friendly when he ... that she was my sister .
1} discovered 2) expected 3) wondered 4) preferred
6. I think this flower garden is ... in this village .
1) as beautiful 2) more beautiful 3) the most beautiful 4) the more beautiful
7. The mun wWho .. next door has ten children .
1) lives 2) living 3) he lives 4) he's living
B. 1 sovesmnenreens M. Robinson since T ... t0 my new apartment on Oak Street .
1) didn't see - moved 2} haven't seen - moved
3) didn’t see - have moved 4) haven’t seen - have moved
B, T vorveersnecreness the bicyele myself if nobody helps me.
1) repair 2) will repair 3) am repairing 4) have repaired
10. The Browns have promised ... their work as soon as they can .
1) finish 2) finishing 3) to finishing 4) to finish

PART B : Reading Comprehiension
Directions : Read the following passage and answer the questions by choosing choice (1), 2) , (3), or (4) . Then
mark the correct choice on your answer sheef .

Mealtimes are an important part of the day . Food should be carefully prepared and attractive to look at

when served .
Doctors have tried to plan a healthy diet for us . Some are quite difficult to follow . But the most important

point is that we should try to have new foods , foreign foods , strange foods , fresh fruits and vegetables ,

meals without meat , pastas or rice instead of potatoes , and anything else that you like to eat ,

Most of us eat too much factory - made foods , animal fats , and fats generally . But the hamburger or
frozen food you sometimes eat is not bad for your health . By eating a little of a lot of foods , you can receive
what you need to keep you fit and healthy .

11. What does the passage mainly discuss?

1) Mealtime 2) Foreign foods 3) Healthy eating 4) Factory-made foods
12.To keep healthy , we should eat a lot of i

1) foreign foods 2) different foods 3) rice and meat 4) meals without meat
13, The word ‘Some' in line 3 refers 0 v

1) diets 2) foods 3) doctors 4) plans
14. The word ‘strange’ in line 4 is closest in meaning 10 . «

1) funny 2) unusual 3) rich 4) correct

15. According to the passage , which of the following should we eat instead of potatoes ?
1\ rice 2) fruits 3) seafood 4) fats
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